Lattice Multiplication (C)

Use lattice multiplication to find each product.

36 1 3.0 4 38 7
2 8 8
9 5 2

361 x 29 = 304 x 85 = 387 x 82 =
6 8 0 9 3 8 8 1 6
7 3 7
7 3 6

680 x 77 = 938 x 33 = 816 x 76 =
2 8 5 4 5 6 32 3
5 7 8
9 2 8

285 %59 = 456 x 72 = 323 x 88 =
8 6 3 4 2 2 9 6 1
2 8 1
3 1 8

863 x 23 = 422 x 81 = 961 x 18 =
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Lattice Multiplication (C) Answers

8 6 3
1 1 0 )
1 6 2 6
2 1 0 3
9 4 8 9
8 4 9

863 x 23 =19,849

422 x 81 = 34,182

Use lattice multiplication to find each product.

961 x 18 = 17,298
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